Uppwlwl dpwghpp' 041301.01.6 «Ywnwywpnid (puwn npnpwnh)»
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1-hts Ynipu 1-hts Yhuwdjuy
<wjng wwwndnipjnLu-1 1 2 32
Cwyjng |kgnt-1 1 2 32
(tnuwg |Ggni-1 1 2 32
Ownuwnp [tgni-1 (wugytiptu, gbpdwubptu, $pwuubpbu) 1 2 32
Fwpdpwagnyt dwpebdwwnhlw-1 1 3 64
Uhypninunbuwghwnniejwu ubpwodnipintu 1 4 64
Upwnwlwpg hpwyhbwyubpnd punwpwghwlwu wwownwwuniyeinu b
wnwohu pnidoqUnipnLu 1 3 48
nbunnpwwtu wpytun b hwnnpnulygdwu hdnnyeiniuubip 1 4 48
Phqubu Ephyw 1 3 32
Ywnwywpswlwl dinph ywundniyentu 1 4 48
1-htu Ynipu 2-pn Yhuwdjuly
Atinuwplwwnhpnipntu 2 | 3 32
Unghninghw 2 4 48
Uwlpninunbuwghwunnipjuu ubpwonyenit (wuhwwnwlwu woluwwnwup) 2 4 64
Fwpdépwagnyt dJwpebdwwnhlw-2 2 3 64
Owwnp [tgni-2 (wugtiptu, gpdwubiptu, $pwuubptiu) 2 | 2 32
Mnwwg |kgni-2 2 | 2 32




Cwjng |tgnt-2 2| 2 32
wjng wwwindnipjniu-2 2 | 2 32
Cwdwlwpgswihu hdwnnienituubp 2 4 48
Utiubiodbiup-1 2 5 48
2-pn. Ynipu 1-htu Yhuwdjwly

JYhbwwgpniygjwt punhwunip wnbuniyeiniu 3 3 64
Uwutwghwnwlwu onwn |Ggni-1 (wugitiptu, gbpdwubpbu, $pwtubptu) 3| 3 64
hpwywghwnie)niu 3 3 48
Ywqdwybpwwlwu Juppwaghd 3 4 48
Ubkuboubup-2 (wuhwwnwlwu woluwwnwup) 3 4 48
Ywnwywnpdwu nbntwundwlwu nbhluuninghwubp 3] 3 48
Lnghunhluw 3| 3 32
Puwunwpnrwopowlwnnyeintu b phqubiu gpughunnieintu 3 3 48
Cuwmpnyh nwuptupwg

Ywnwywnpdwu unghninghw b Ynuypbwn unghninghwywu

htunwqgnuniejnibubin

Ywnwywpdwu hngbpwunipiniu

Ywnwywnpdwu thhihunthwjnieiniu 3 E 48
YUnUwnbuwn Ybpnidnipiniu

Sunbuwlwu unghninghw

2-pn Ynipu 2-pn Yhuwdjuy

Uwutwghwnwlwtu onwp |Ggni-2 (wuqbiptu, gbpdwubpbu, Spwuubtipbu) 4 | 3 64
Phihunthwjnipiniu 4 3 48
Uwppbiphug 4 4 64
Eyninghwjh hhdniuputip 4 4 48
US< 4 4 48
Phqubtiu yhbwywagpnipntu 4 | 4 48




Cuwmpnyh nwupupwg

Ywnwywnpswlwu npnpnwdubiph punnwdwu b hpwgnpddwu bW hwgnpddwu
Ywqgdwlbpwnuip

Ywnwywnpdwu Yndniuhyughwubp

4 5 48
Unudhywnubiph U uppbuh Yunwywnpnid
fudpbiph wnwydwpnud b phdwjht w2fuwwnwup
Ynpwnpwwnhy unghwjwlwu Wwwnwufuwtwwnynieintu
3-pn Ynipu 1-hts Yhuwdjuy
Lwnupwaghwnnip)ntu 2 32
Uphluwwinwupwihtu hpwyntup 3 48
bhuwtuubip S 4 48
Nwqiwdwpwwu junwdwpnud (wuhwwnwwl woluwwnwup) B 4 64
Ywqdwybpwdwu nbunieinlu B 3 48
Phqubtiuh qguwhwwnnwd 5 3 48
Fhqubiu hpwyniup 3 48
Ununhdwghw b dninhjwghwih dwdwuwywyhg nbluuninghwubp 5 4 64
Shuwtuwlwu hwodwnnid S 3 48
Cuwnpnyh nwupupwug
Uwwnnnulwu Juppwaghd
Uwppbphuqwiht hGihwgnunniejniututip
(GJuwyhu dwpptiphuq 5 4 48
Uwpwupubiph W Ynpwynpwnhy wuwypwupwuhoubph junwywnpnid
Uhgwqquiht dwpptiphtq
Pnjuhwpwpbpnyeiniuutiph dJwppbehug
3-pn Ynipu 2-pn hhuwdjuly
Uhswqgwjhu dbubgdtiup 6 3 48




Fhqubiu pwuwygnipiniuubip 3 32
Unwounpnnid 6 3 48
Uwypnuintinbuwghwnnipniu 6 4 48
Uwpnyuwjphu nbunipuubiph unwydwpnud 6 4 64
Ywnwywnpdwu hwdwlwpgbph wbunyeinu (wthwwnwwu wofuwnwup) 6 3 48
Uwpbdwunhluwlwu dbpnnubpp U dnnbjubpp tnunbunyejwu dby 6 4 48
Ywnwywpswlwu hwodwnnd b ypwhuynnnientu 3 48
Cuwmpnyh nwuptupwg

Upwnwnpnygjuu funwyjwpnid

Unghwjwlwu Jtubodtup

Fwulwjhu dtubodbiup 6 3 48
Ynpenipjut Junwywpnud

Uuswnd gnyph juwnwywnpnid

4-pn Ynipu 1-hu Yhuwdjuy

Lwfuwgdtph junwdwpnid 7 4 48
Cwupwiht yunwwpnu (wuhwwnwlwu wotuwwnwup) 7/ 4 48
Sunbuwywu dquwdwdbph junwywnpnid 7 4 48
EjGYunpnuwihu phqubiu 3 48
Pnihnfunyeiniuttiph uwnwywpnud 7/ 3 48
Shuwtuuwlwu Ybpnidnip)niu 4 48
Cuwmpnyh nwupupwg

UphGuunwwt pwlwlwunyjuu b ndjujughwunnie)ntu

Snpdwnuniejniutiph hbinwgnunientu

fuwnbph nbunyeiniu 7 4 48

Eynundbtitnphlw

Phqubiu gnpdpupwgubtinh dnnbjwynpnid

Cuwnpnyh nwupupwg




Phqubu nhulybph junwywpnud

dwldwuwyh unwwpwnd

Lbpnpnuwdutph uwnwydwpnid 4 48
YUhpwnwlwu Jdtubodbup

Unpwdnidnipiniutbph Yunwydwnpnid

Cunwdbkup mbuwwu ntunignid 210 2992
Pnpdwnnipintu 12
UJwpuwljwu woluwwnmwup 18

Cunwdbup Ypbinhw 240




